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3.	
  

	
  
	
   	
  

Given:

Prove:

AB ≅ BC ≅ CD ≅ AD

AC ⊥ BD

Statements Reasons

E

C

A

B D
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8.	
  

	
  
	
   	
  

D (5, 7)

C (2, 2)

If CD is the hypotenuse of a right CAD and A has integral coordinates, find all possible values
of the coordinates of A.
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9.	
  

	
  
	
   	
  

Given:

Prove:

O
∠B ≅ ∠C

AO ⊥ BC

Statements Reasons

E

B

OA

C
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11.	
  

	
  
	
   	
  

Given:

Prove:

PR bisects QS
∠RQT ≅ ∠RST

QS ⊥ PR

Statements Reasons

T

S

Q

P R
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12.	
  

	
  
	
   	
  

Prove that if 2 s intersect at 2 points, A & B, then the line joining the s centers is ⊥ AB.

Given:

Prove:

Statements Reasons
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14.	
  

	
  

b

a
Is a ⊥ b?  Justify your answer.

3y-21( )°

2x+y( )°2x+37( )°


